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7 OBRBEREUERE SR

a BOD 3l (AT © mg/L)

HRD Tl | REAYESL B Rt 25 e E 26 A B
K4 Y WA = 750 | =¥ W A ¥ 75%(E
ETIIE) [ A Lol 1212 = 100 1.2 109] 12712 = 100] 1.0
T (2) Al Ea B |12l 12712 = 100 .3Jo.9] 12712 = 100] 1.0
IR TEH A lo7] 12712 = 100 09 06| 12,712 = 100] 0.7
TP (1) | A Jo7] 1212 = 100/ 0.9 J0.8] 12 712 = 100] 0.8
)T (2) =it A Lo 12712 = 100 1.1 Lo 12712 = 100] 1.1
PRI Bt (1) [T A lo7] 12712 = 100l 0.8 Jo.6[ 12,712 = 100] 0.5
FE)1| Fik (2) [=804E A loe] 12712 = 100l 0.7 Jo.7] 12,712 = 100] 0.7
M| Rk G A Jogl 1212 = 100l 0.9 Jo.7| 11 11 = 100] 0.9
ANEEJI(2) TG A 13| 11712 = 9 1.5 1.3 1012 = 83 1.6
SN [ A Jool 12712 = 100l 1.o Jool| 12712 = 100] 1.0
A1 (3) TKIB A ool 12712 = 100 1.oJo9o]| 12712 = 100] 1.0
ESeIlER A o9l 12 712 = 1000 0.900.9] 12 712 = "100] 1.0
HEJILER (25 AA o6 12 712 = 100[<0.5]0.6] 12 712 = 100] 0.5
NMEZH A o5 12 712 = 100[<0.500.6] 11 711 = 100] 0.6
DYNEL A Jose| 12712 = 100 0.7 ]0.6] 12,712 = 100] 0.5
HEJTW |G A Jo7]l 1212 = 100l 0.8 Jo.7] 12 712 = 100] 0.6
WEE A Jose| 12712 = 100 0.6 Jo.6] 12,712 = 100] 0.6
EEEQ}II% A ool 12712 = 100] 1.1 ] 1.4 8 /12 = 67 2.1
Lgsspl| /\ 15 A Joe| 12712 = 100 0.6 Jo.6] 12,712 = 100] 0.5
WG A Jogl 1011 = 91 1.oJos]| 12712 = 100 0.7
rEf)l FEAR TP AR B Jo.7] 1010 = 100l 0.8 Jo.8] 12,12 = 100] 0.9
A Eye o mmsorsesa [ A Jo.7] 12 712 = 100 0.7 Jo.8] 11 711 = 100 1.2
ST FEE /NS A o7l 1111 = 100 0.9]o0.7] 12712 = 100] 1.0
] — B 19|l 1011 = 91l 22115 10710 = 100 2.1
B8 R | = AAJo5] 12712 = 100 0.5 Jo.6] 12,712 = 100] 0.5
FEITH FEE A Joe]l 12712 = 100l 0.7 Jo.7] 12,712 = 100] 0.7
JETE)| EEE AA [<0.5] 12712 = 100] <0.5]<0.5] 12 12 = 100] <0.5
HE | WA A Joe| 11711 = 100l 0.8 Jo.6] 11 11 = 100] 0.7
SHEI)I < H A A Jose| 12712 = 100 0.6 J0.5] 12 712 = 100] 0.5
eI 1S A o8] 12712 = 100] 0.9 J0.6 6,6 = 100 0.5
NGl DAGE A Josg|] 1111 = 100 1.1 ]0.8] 10,710 = 100] 0.9
A1) iREL dhio A Lol 11712 = 9] 1.1 ]1o] 12,712 = 100] 1.2
FAR [ A o8] 12 712 = 100l 0.8 Jo.7] 12 712 = "100] 0.8
Tl B A o6l 12 712 = 100 0.5 Jo.6] 12 712 = "100] 0.5
HEF) | IR KAB A Joe| 12,712 = 100]<0.500.5]| 11,711 = 100f<0.5
S HEAE A lo7] 12712 = 100] 0.8 0.7 9,9 = 100/ 0.8
A E i A Joe| 1111 = 100 0.5 Jo.5] 1111 = 100] <0.5
NG NG A Jog|l 1111 = 100l 1.1 J1.0] 1010 = 100] 1.0
)1 /NG A Jos| 11711 = 100 1.oJo.7] 10,10 = 100] 0.9
SRl +RlitE A o7 1212 = 100/ 0.8 J0.6] 12 712 = 100 0.6
Il KNG A Jose| 12712 = 100 0.6 Jo.6] 12,712 = 100] 0.5
=)l = )4 A J<o0.5] 11 711 = 100/ <0.5]0.5] 12 712 = 100] <0.5
FHEAI e A 1ol 11712 = 9 o07]o06| 12,712 = 100 0.6
]3I 0 A Joe] 12712 = 100 0.5 J0.5 9,9 = 100] <0.5
KF I A Jos5] 12712 = 100]<.5]05] 1111 = 100]<0.5
Bl G A Jogl 1212 = 100l 0.9 Jo.s8| 10 11 = 91| 0.9
1| B A Jos5] 12712 = 100]<.5]05] 12,712 = 100] <0.5
ia=i=ZaIl oo A Jlosg|l 11 712 = 921 0.8 ]0.6] 12 712 = 100/ 0.5
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b COD ) (B : mg/L)

LTI | B L4L ¥ 25 ;3 B 26 s i
KI i ) W oA ¥ T5%fE | P wWoA =E 75%1E
BERRE (1) b S A 2.8 0,/ 6 = o] 3.1 2.3 2,/ 6 = 33] 2.4
T B 2 A 2.6 1,6 = 17] 2.7 1.8 1, 6 = 67] 2.1
SRR (2) XX g EHSE A 2.4 2,/ 6 = 33] 2.4 1.7 5,/ 6 = 83] 2.0
TR B H A 2.8 0,/ 6 = of 3.2 1 2.1 2,/ 6 = 33] 2.2
O W [T A 2.1 3. 6 = 50 2.3 1.5 6,/ 6 = 100] 1.8
B i st A 2.3 4,/ 6 = 67] 2.6 | 2.0 3,/ 6 = 50| 2.2
[EE=NIN PN B 4.3 012 = ol 4.7 3.8 1/ 12 = 8l 4.1
far &% I [ B 4.3 1,/ 12 = 8l 5.0 3.6 3,/ 12 = 25| 4.0
THE 5t B 4.3 1./ 12 = 8l 5.1 3.5 5,/ 12 = 42 3.8
EEREN A 2.4 1,/ 4 = 25 2.4 2.2 2,/ 4 = 50| 2.5
O W RS A 1.9 3,/ 4 = 75| 1.8 1.8 3,/ 4 = 75| 1.9
R R A 1.8 3,/ 4 = 75| 1.8 1.8 3,/ 4 = 75| 1.5
1L i gl A 2.0 2/ 4 = 50 2.2 1.4 4/ 4 = 100] 1.8
I I T A 1.8 3/ 4 = 75| 1.9 1.5 4/ 4 = 100] 1.7
S 50 S A 3.3 0,/ 12 = ol 3.6 2.7 1,/ 12 = gl 2.8
5B A 3.5 0/ 12 = 0] 3.9 ] 3.3 0/ 12 = 0] 3.4

c AEEZNOEEE (EFE)

(2%R) (HSAZ : mg/L)
ML TIID | REAUESSL G| 25 H 3 26 e =5
KA vl ¥y WA F N3] W A F

AL 0. 45 2,/ 6 = 33 0. 29 5,/ 6 = 83
ERRS (7)) [ I 0. 34 4,/ 6 = 67 0.18 6, 6 = 100
SEH 0. 40 6 /12 = 50 0.24 | 11 /12 = 92
X g FHAE 0. 34 4, 6 = 67 0.16 6,/ 6 = 100
SRS (1) |EREE T I 0. 38 3,6 = 50 0. 20 6,/ 6 = 100
S 0. 36 7,/ 12 = 58 0.18 | 12 712 = 100
VLR Hi S 0.18 6, 6 = 100 0.14 6,/ 6 = 100
O | Bk II 0.23 4,/ 6 = 67 0. 22 4, 6 = 67
25 0.21 | 10 /12 = 83 0.18 ] 10 /12 = 83
95 A 0.52 0, 6 = 0 0.49 2,/ 6 = 33
faf % I RS I 0. 44 2,/ 6 = 33 0. 34 3,/ 6 = 50
18 A 0.44 2,/ 6 = 33 0.34 3,/ 6 = 50
5] 0. 47 4,/ 18 = 22 0. 39 8 /18 = 44
7038 0. 30 3,/ 6 = 50 0.25 5,/ 6 = 83
D E RS B il 0. 30 3,/ 6 = 50 0.28 5, 6 = 83
L1 0. 30 6/ 12 = 50 0.27 | 10 /12 = 83

(e p) (LAY : me/L)
ML TITD | BREEEHELSSL &) 25 i 3 26 4 B
KIg4h | S WA E L) WA

AL B 0. 027 4,/ 6 = 67 0. 022 6,/ 6 = 100
RS (7)) [kt m |o.026 5,/ 6 = 83 0.019 6,/ 6 = 100
A 0.027 9,/ 12 = 75 0.021 ] 12/ 12 = 100
XX g B 0. 024 5,/ 6 = 83 0.016 6,/ 6 = 100
SRS (1) |EREE T I |0.024 5,/ 6 = 83 0.017 6,/ 6 = 100
A 0.024 | 10 / 12 = 83 0.017 ] 12/ 12 = 100
VLR Hi S 0.014] 6,/ 6 = 100 0.015 6,/ 6 = 100
O | B m |o.o018 5,/ 6 = 83 0.017 6,/ 6 = 100
SEH 0.016 | 11/ 12 = 92 0.016 | 12/ 12 = 100
B ) AR 0. 029 4,/ 6 = 67 0.043 2,/ 6 = 33
bl #% ¥ | m [0.032 4,/ 6 = 67 0. 021 6,/ 6 = 100
T 7 i 5 0.035 4,/ 6 = 67 0.019 6,/ 6 = 100
RS 0.032 [ 12/ 18 = 67 0.028 | 14 / 18 = 78
72 03 0.018 5,/ 6 = 83 0.018 5,/ 6 = 83
KR LR o |o.020 5,/ 6 = 83 0. 022 5,/ 6 = 83
1) 0.019 [ 10 12 = 83 0.020 [ 10 12 = 83




d 2fsh, /=7 =/ —LKEOLAS OKEEMORERITIR L EREELMETER)
(AHE) (A : mg/L)
B H Tl | mBREHENE AL KR 25 3 B 26 4 e
7KIg4 RE2) WA ¥ WA ¥
- fEoctE 0.003 4/ 4 = 100] 0.003 2/2 = 100
el e | SEAE £ B 0. 004 12 /12 = 100] 0.003 4,/ 4 = 100
1 i (D PATHRE AmA ]l 0.001 12 /12 = 100] 0.001 12 /12 = 100
I B (2) (U8 8 AMmB | 0.002 12 /12 = 100] 0.002 2/2 =100
SIS AOMIEES B | 0.002 4 /4 = 100] 0.001 2/ 2 = 100
BN AONESS B | 0.012 12 /12 = 100] 0.010 4/ 4 = 100
WG 0. 004 12 /12 = 100] 0.007 2/2 = 100
5 e AMCKHE 0. 004 12 /12 = 100] 0.004 2/2 = 100
AH EAKE BB 001 1,/ 4 = 100 0.003 2/ 2 = 100
*@Jllfﬁﬂiﬁ 0. 003 12 7 12 = 100] 0.003 4,/ 4 = 100
BB EFE  [ZEE AL 0.001 4 /4 = 100] <0.001 4 /4 = 100
ERG 0. 002 4,/ 4 = 100] 0.001 4.4 = 100
DUNELS 0.001 4,/ 4 = 100 0.002 2,/ 2 = 100
HEJIT [ AwmB | 0.002 4/ 4 = 100] 0.002 2/2 = 100
I EAE 0. 002 4/ 4 = 100] 0.002 4,/ 4 = 100
EENERINE 0. 009 4/ 4 = 100] 0.021 3 /4 = 75
(=T ) =)L) (BT : mg/L)
ML TIED | LTSS b=pin| 25 = 3 26 I T
7KIg4 RE2) A N2 WA ¥
; fEoCtE <0.00006] 2 72 = 100]<0.00006] 22 = 100
e Ve | SEAE EY B <0.00006] 4,4 = 100]<0.00006] 4,4 = 100
1 i (D PATHNE A [<0.00006] 4,4 = 100[<0.00006] 4,4 = 100
I B (2) (U8 8 A B [<0.00006] 2 2 = 100[<0.00006] 2,2 = 100
)1 Rt (D [P KAE B [<0.00006] 2 72 = 100<0.00006] 2,2 = 100
)T T (2) [ BT Rile A B [<0.00006] 4,4 = 100[<0.00006] 4,4 = 100
WG - / = - |<o.00006] 2 72 = 100
5 e AMCKHE <0.00006] 2 72 = 100]<0.00006] 2 2 = 100
AHI EAKE B o 00006] 2 2 = 100]<0.00006] 2 72 = 100
ﬁ@}llfﬁﬂ%ﬁ <0.00006] 4,74 = 100[<0.00006] 4 4 = 100
B ERE  [ZEE A ]<0.00006] 4, 4 = 100[<0.00006] 4,4 = 100
ER S <0.00006] 4 74 = 100]<0.00006] 4 4 = 100
PYNEL <0.00006] 272 = 100]<0.00006] 22 = 100
BT [ B [<0.00006] 2 2 = 100<0.00006] 2,2 = 100
I EAE <0.00006] 4,4 = 100]<0.00006] 4,4 = 100
EER=YIL <0.00006] 2 72 = 100[<0.00006] 4 74 = 100
(LAS) (AT < mg/L)
BRLTID | gpesg | g 26 iz
KIA T Y iﬁ/ &
i <0.0006 | 2,72 = 100
el Ve | H 24 B <0. 0006 4,/ 4 = 100
S AONINRN A | <0.0006 4,/ 4 = 100
£ By @) [JEAE B | <0.0006 2,/ 2 = 100
I AONIEPN B | 0.0006 2,/ 2 = 100
B Tt (2) B il E#B] 0.0006 | 474 = 100
iR i 0. 0042 2,/ 2 = 100
5 N PN <0. 0006 2,/ 2 = 100
AR o BB I S00e T 2 7 2 = 100
Ol ER <0. 0006 4,/ 4 = 100
BB B |29 A ] 0.0007 4,/ 4 = 100
ERG 0. 0006 4,/ 4 = 100
PDYNEE <0. 0006 2,/ 2 = 100
HEBEJITFR |[FEE B [<0.0006] 272 = 100
B EE <0. 0006 4,/ 4 = 100
I 0.0006 | 4 4 = 100

() /=7 = ) —)VTERR244E8 H 22 A AT BRESE 5 R 127 512
(FE) L A SITFRk254E3 A 27 HATBREEE 5 R 530 512
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